APOWER

AT630T

TPUMMEP
BEH3UHOBbLIN

Cnucok 3anyacrteun
B3pbiB-Cxema

Ten: +7-495-181-6269
Email: info@a-ipower.ru

Designed & Refined in USA / Custom Manufactured in China
A-iPower, Fontana, CA 92337 USA



B3pbiB-CXxema gBurartens

1E48F




Cnucok 3anyacren gBurartens

NO [ApTukyn OnucaHve Kon-Bo NO [ApTukyn Onucanve Kon-Bo
1 [1E48F.1.2 BuHT-6apaluek Bo3a. dunbTpa 1 41 |1E48F.5.1.2 Mogaynb 3axuraHus 1
2 [1E48F.1-1 Kpbilka Bo3AyLLIHOMO hunbTpa 1 42 |AG43/52 Mposopa B cbope 1
3 |1E48F.1-2 MoponoHHbIN PUNbLTP 1 43 |1E48F.5.1.1 MaxoBuk 1
4 | GB/T70.1+GB97 |BuHT M5x55 2 44 |GB/T97 Lanba 10 1
5 |6MF-30.1-13 Ckoba 1 45 |GB/T93 LWanba 10 1
6 |1E48F.1.1 Kopnyc Bo3gyLuHoro unstpa 1 46 |GB/T6171 lanka M10x1 1
7 |1E48F.2 Kap6topaTop 1 47 |1E48F.6 CrapTtep B cbope 1
8 |1E48FP-3 Mpoknagka kapbropatopa 1 48 |1E34F.9.2-3B TonnueHbLIN PUNLTP 1
9 |GB/T70.1+GB93+GBI7 |BuHT M5x30 2 49 |CG420.4.2-2 TonnusHas Tpybka 260 Mm 1
10 |1E48FP-5 BnyckHas BTyrnka 1 50 |EB-415.4.2-2 PesnHoBoe ynnotHeHve 1
11 | 1E48F-5 lNpoknajaka BryCKHON BTYIKA 1 51 |EB-415.4.2-4 TonnusHas Tpybka 90 Mm 1
12 [1E48F.5.1-1 KpblLLKa cBeYn 3axuraHms 1 52 |GB/T70.1+GB93+GB96 | BuHT M5x30 1
13 |1E36F-2C.6-2 MpyxunHa 1 53 |1E48F.9.1 TonnueHbIN 6ak 1
14 | LBRTC CBeuya 3axuraHus 1 54 |139F-2-12 Pe3nHoBas BTynka 1
15 |GB/T70.1+GB93 [BuHT M5x20 11 55 |HB33.2.2.1 BepeBka KpbliLLk/ Gaka 1
16 |GB/T97 LWaiba 5 1 56 |1E32FL.6.2-3 HakoHeuHuMK 1
17 | 1E48F.3 Kopnyc asuratens 1 57 |1E32FL.6.2-2 BHyTpeHHsis YacTb Npobku 1
18 | GB/T70.1+GB93 [BuHT M5x10 1 58 |EB-415.4.1.1-1 BTynka 1
19 |1E48F-1 MNnactuHa-nsonaTop 2 59 |CG420.1.3.1-2 Pe3nHoBas npoknagka 1
20 | 1E48F-3 Mpoknagka rnywurens 1 60 |1E32FL.6.2-1 Mpobka TonnmeHoro 6aka 1
21 | 1E48F.-HP.2 Mmywwurens 1 61 |GB/T70.1+GB93+GB97 | BuHT M5x16 2
22 |GB/T859 LLanba 8 2 62 | 1E48F-2 3arnywka 1
23 |GB/T70.1 BuHT M8x25 2 63 | 1E48F.8-1 Kpblwwka kapTepa 1
24 |GB/T70.1+GB93+GB97 [BuHT M5x12 1 64 |1E40F-6.11-2 Cnurep 1
25 |1E48F-4 LvnuHap 1 65 |GB/T96 Lanba 6 1
26 |1E48FP-10 Mpoknagka uunuHapa 1 66 |GB/T93 LLlan6a 6 1
27 |1E48FP.5-3 [MopLuHeBoe KoMbLO 1 67 |1E40F-6-4 Bont 1
28 |1E48FP.5-4 MopLuHeBoe KonbLo 1 68 |1E40F-6.11.1 PprKUMOH 3
29 |1E48FP.5-5 MopLueHb 1 69 |1E34F-13 Lanba 3
30 |1E40F-03.02.01 [CTonopHoe KomnbLo 1 70 |1E40F-6.11-3 Bont kpennexns cuennexus 3
31 |1E48FP.5-2 MoplHeBown nanew, 1 71 |1E40F-6.11-I1A MpyxuHa cuennexHus 3
32 |1E44F-2A.2-3 MronbyaTbii NOALMNHUK 1
33 |1E48F.7.1 KoneHnBan B cbope 2
34 |GB1099 LLinoHka 3x5x13 1
35 |GB119 Hanpaenstowwi wrudt 8x10 2
36 |1E48FP.6-2 lMpoknagka kapTepa 1
37 |GB/T276 MogwwmnHuk 6202/P6 2
38 |1E48F.8-2 Kaptep 1
39 [1E40FP-3Z-11 CanbHuK 2
40 |GB/T70.1+GB93+GBY7 |BuHT M5x35 4




B3pbiB-cxema LWwTaHru




Cnucok 3anyacTteu WTaHrvm

NO |ApTukyn OnucaHve Kon-Bo NO |ApTukyn Onucaxune Kon-so
A |CG415.3--926 Penyktop 1 D Ban 1
A-1 |GB/T893.2 CronopHoe konbLo 26 1 D-1 |BG-328.9.4-5 PesvHoBas BTynka 26 6
A-2 |GB/T894.1 CronopHoe konbuo 10 1 D-2 |BG-328.9.4-4 MOALIMMHUK CKOMBXEHNS 6
A-3 |GB/T276 MopawwunHuk 6000-2RS 3 D-3 [CG40.3-2 Ban 1
A-4 |CG415D.6-4 Ban-wecTtepHs 1 D-4 [SYLG26-1500-1 AntomunHreBas Tpyba 1
A-5 |GB/T70.1 BuHT M6X20 1 E |CG438-KW.1 Pyuka ynpaBneHus 1
A-6 |GB70+GB93+GB97 | BonTt M5x12 4 E-1 |CG438-KW.1-1 Pyuka (neB) 1
A-7 |GB70+GB93+GB97 | BonTt M6x12 1 E-2 |CG438-KW.1-2 KHonka B cbope 1
A-8 [BG305.12.4-4--026 | Kopnyc pegyktopa 1 E-3 |CG438-KW.1-3 Tpocuk B cbope 1
A-9 |BG305.12.4-9 3awuTHaa nnacTtuHa 1 E-4 |GB/T818 BuHT M5x30 1
A-10|BG-328.9.5-2 Koneco 1 E-5 |GB/T6170 laika M5 1
A-11 |CG305F.1-1 Ban 1 E-6 |GB/T846 BuHT 2,9x18 3
A-12 |GB/T276 MopwwunHuk 6000-2RS 1 E-7 |CG438-KW.1-4 Pyuka (npaB) 1
A-13 |GB/T893.2 CrtonopHoe konbLo 32 1 E-8 |CG438-KW.1-5 Tpurrep 1
A-14 |BC34.3-1 Brynka A 1 E-9 |CG438-KW.1-6 MpyxwuHa 1
A-15|CG305F.1-3 BTynka B 1 E-10 [CG438-KW.1-7 Pblyar donkcaumm 1
A-16 |GB/T862.1 Wawba 10 1 F |[YKBC36.1 3awuTa 1
A-17 |CG305F.1-4 "aika c neBow pe3bboi 1 F-1 |GB70+GB93+GB97 | BuHT M6X30 2
A-18 |GB/T91 WtndT 2x16 1 F-2 |YKBC36.1-1--926 | [nactuHa 1
B Py4ykn 6eH30KOChI 1 F-3 [GB/T845 BuHT 4,2x13 3
B-1 |CG438-KW-1 lMpaBas pykosiTka 1 F-4 [YKBC36.1-2 3aLUNTHBIN KOXYX 1
B-2 |GB/T70.1 BuHT M6%25 6 F-5 |CG420.7.1.1 HwxHas 3awmTa B cbope 1
B-3 [SYCG630B.1-1 Kpbllwka BEpXHAS 1 F-6 [CG420.7.1.1-1 HwxHas 3awmTa 1
B-4 |CG438-KW-2 PesnHoBas py4yka 1 F-7 [CG420.7.1.1-2A Jle3sue 1
B-5 |GB/T 818 BuHT M5x30 1 G _|CG420.3 Moagec pemHsi 1
B-6 |GB/T6170 [anka M5 1 G-1 |CG420.3.1 BTynka pemHs 1
B-7 |SYCG630B.1-2 | KpoHLTENH 1 G-2 [CG420.3-1 3axum 1
B-8 [SYCG630B.1-4--026 | PeanHoBas npoknagka 2 G-3 |[GB/T70.1 BuHT M5%20 1
B-9 [SYCG630B.1-3 | Kpbilka H/XHASA 1 G-4 |GB/T889.1 "anka M5 1
B-10 |CG438-KW-3 JleBasi pykosiTka 1 H [SYCG630B.2 Lnyns 1
C |[SBC33.1 Btynka cuennexus 1 | [40T JlesBune 40T 1
C-1 |CG415D.1.1A KopsuHa cuenneHus 1 J |CG430-SC.1 PemeHb B cbope 1
C-2 |GB/T893.1 CrtonopHoe konbuo 35 1
C-3 |GB/T276 MogwwnnHuk 6202-2RZ 1
C-4 |GB/T894.1 CTtonopHoe konbuo 15 1
C-5 |SBC33.1-1 Kopnyc cuennenus 1
C-6 |SBC33.1-3 PesvHoBbIN gemndep 2
C-7 |GB/T893.1 CTonopHoe konbLo 45 1
C-8 |26 3axumHas BTyska 1
C-9 |GB70+GB93+GB97 | BUHT M5x12 1
C-10|GB70+GB93+GB97 | BuHT M5x25 1
C-11|GB70+GB93+GB97 | BUHT M6x25 4







